ASKE g9 Scld 44 HuHE

g = LPG == e
Z2A HIEYS 35 °C 0| &t 35~200 °C 200~350 °C
Hl = 0.51~0.58 0.72~0.77 0.80~0.90
ol 3 & (°C) - -40 0|3} 45 0| &
=12 (Kgi/om®) 5.3~15.8 0.45~0.85 -
SEDHRIMFY) 94~ 100 91~96 -
M B Ot - - 45 0| &
0% EFE(°C) - 190 0l&t 360 0I&t
S & 2(wt %) 0.01 0lat 0.1 0/t 0.1 0l&t
X (37.8 °C, cSt) - - 2.0~5.8
=@ 25 e L NEXE A2 | KAHSI, LEHO| A, Ea, O
29 NSXE YK HNEXIIE HuE
2= 5t =2 0 = S d 2 =
BHSE=(21|% 0/5}) 50 25 30 -
Bl A (S 1% 015tH) 5 1 1~3 -
S (2% 014 1.0 2.7 2.5~15(2 %) | 1.8(H1Xl)
j &g/l 0I5t) 0.013 0.026 0.013 0.013
; =724 (37.8°C, kg/em’) 0.45~0.85 0.49 0.45~1.16 0.45~0.80
T50 (°C 0I&t) 125 77~ 121 - 125
T90 (°C 0I35}) 190 185~ 190 - 180
&= (wt% 013t) 0.02('2000) 0.03 0.1~0.2 0.01
& (2l ppm 01 3}) 500 300 0.05 0.05
?j 10% ZHBELAZE(% 0I5t) 0.15 0.15 0.1~0.2 0.10
HIEHRI 4= (01 &) 45 40 46 45




